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#include <stdio.h>

#include <stdlib.h>

struct cell {int element; struct cell *next;};
struct cell *push (int x, struct cell *init);
struct cell *pop (struct cell *init);

main()

{
o

struct cell *push(int x, struct cell *init)
{
struct cell *g, *r;
r=(struct cell *)malloc(sizeof (struct cell));
g=init;
init=r;
r->element=[  (I) * ] ;
r->next= [ _(ITT) &| ;
return (init) ;

}

struct cell *pop(struct cell *init)

{

struct cell *q;
if (init!=NULL)

g=init;
init= | (IIT) | ;
free(q); return(init);

else {printf ("Error: Stack is empty.¥n"); exit(1);}




